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INSTRUCTIONS

Each question is printed both in English and in Kunnada.

Answers must be written in the medium specified (English or
Kannadai in the Admission Ticket issued to vou, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. In case of any doubt in the Kannadc

text, please refer to English text.

This paper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

Al questions in Part A, Purt B and Part C are compulsory.
Answer any three questions in Part 1)
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PART A I 3=20}

Answer each question in about 50 words. Each question carries 5 marks.

1. ta} Discuss organizational behaviour moditication (OB Mod) in terms of
positive and negative reinforces.

(b) Explain the components of MIS and why it is a service within a
company.

t¢)  What is dynamic programming ?

(d}  Why might a firm continue to produce in the short run even
though the actual price is less than its average total cost ?
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10.

11.

i (4)

PART B 10 10=100)

Answer each question in about 100 words. Each question carries 10 marks.

Compare and contrast the economic rationality mode! and the social
model.

“Linear programming 1s a useful technique but has some major
limitations.” Explain.

Describe why managers delegate authority and barriers that often
prevent them from doing so.

Explain the concept of cross-clasticity of demand. What are the conditions
necessary for two products to be complements, substitutes, and

unrelated ?

Describe the basic nature of groups : the dynamics of group [ormation
and the various types of groups.

Describe barriers to cffective communication. How does empathy help
resolve communication problems ?

How can policy-makers influence a nation’s saving rate ?

Describe and contrast bureaucratic and organic structures. Explain how
the environmental factors influence the organizational structure.

Give a brief deseription of different measures of central tendencey.

What is the path-goal theory of leadership ? What is the leader's function

in the conceptualization ?
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12,

13.

14.

15.

16.

17.

PART C 6x15=90)

Answer each guestion in about 150 words. Each question carries
15 marks.

Explain how management and social audits help focus organizational
activities on constituents interests within an organization and outside it.

Discuss the strategic decisions underlying the capital budget.

Compare and contrast the traditional versus the new negotiation skills.
Why do you think the new skills lead to better agreements ?

Discuss the distinctive features of the Binomial, Poisson and Normal
distribution. How are these related to each other ?

Why must a firm have at least some power to discriminate ? What are
the requirements for the practice of price discrimination ? Discuss the
basic major degrees of price discrimination.

Discuss how motivation and leadership are interrelated and explain the
role of decision making in effective leadership.
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18.

19.

20.

21.

22.

PART D Ix30=90}

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

What is crowding out ? In the face of substantial crowding out, which will
be most successful — fiscal or monetary policy ?

What is self-efficacy ? What are the major sources of self-efficacy 7 How
could each be wused to enhance employee efficacy to increase
performance ?

Describe the problems caused by multicollinearity and autocorrelation.
Why should one be concerned about their effects on the regression
results ?

What is the difference between gross domestic product (GDP) and gross
national product (GNP) ? What determines the total production of goods
and services ? How is national income distributed to the factors of
produetion ? What determines the demand for goods and services ?

Define and discuss the stages of organizational evolution. How does
not-for-profit status affect organizational structure ? What are the
similarities and  differences between  service companics and
manufacturers ?
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